(G UEES
[F=v 2R A 1]

T HH AR Fz v IR %
1[SingleLaneRoad FALSE — - A3 P AL FE A
2|NormalCrown 2 (*@ A—E

[F=v R 2]

HH
BE Bl = HiE 29 (%) F = 7R e
o Zfl =l

m )—[

4

1 0+ 0.000000| -2.000000 -2.000000
2 7+ 6.429064( -2.000000 [ -2.000000
3 9+ 8.095731 2.000000 -2.000000
4 10+ 8.929064| 4.000000 | -4.000000
5 16+10. 774192 4.000000 -4. 000000
6 17+11.607525| 2.000000 | -2.000000
1 19+13.274192| -2. 000000 -2.000000
8 26+ 9.652666] -2.000000 | -2.000000
9 27+ 9.652666[ -2.000000 2. 000000
10 35+ 1.951929| -2.000000 2. 000000
11 36+ 1.951929| -2.000000 -2.000000
12 40+10. 389100 -2.000000 | -2.000000
e
i i i S | i
: : ! Q :
| S B i A
) e ——
T T T I R
1 x |
i 10+08.92906, F7E = 16000000, £ HEC = 4.0000% ~ S¥iE FrEIEL FaElE
E B TERT S8 LEEnL ]
W |t -zooook | | Bl
T BAEEn > [N =] 0.0000% TI+08 92006 & 7 2P eS|
o} [t ¢ s00 | S AR 41 66667 8+0726240 55w 251
r;: iﬁjﬁﬂﬁﬁﬁﬁ- e 2053383 THOGA2906 15 55 EIAL RS A e
L T [ 5Py HISUA7ERERTS
T~ |i[000000 |
BILCRES EiegAL|
B stEInceEsE | Al
ir |+ [0.00000 | [y EEOSLATER 0.0000% TE+ 1077418 7 75 EB0 (s T At b
— EEAE T SuATE 41 66667 18+12.44086 2503518
|+ [0.00000 | [ surbE 20838383 19+13.27410 BfR Fhlhmes 7ot ok

T E O FPabHs LA TE=5ERT S

m )—[

4



a5 8

O ZPrabe s A 7= R ERTS

| BlE i
SATE $1 66667 B+0726240 JowlE51E
e 20.53333 PHOG42906 £ B AL (ORANS A o b &
| S RERERE 41 6BEET Q+NB09573 45 4f0 B R o Es{ 3R, -
[ ZoPoaNIZA7ERERTS
ALl
| BlE i
=—F5E $1 66667 18+12.44086 D528
e 20.53333 1941327419 Fr20BC SO0 DS T A4 - B
| s REERE 416EEGT 17+ 1160752 {45 AL RS Es{ RIS, =
[ ZoPoaNIZA7ERERTS
1 %X
i 26+1965267, 37F = 100000000, B HHEC = 20000% |~ E 0] FrEJBL FEBLE [
E IENARBARED: LERRL ;
o |9[-20000% | Bl iz
e — [» HERRDSZA TR 100.0000% 27+09.65267 B F B ORRE ATk =
10 AR 1000000 26+19 65267 25 RETE
? %J;;ﬂ;; e to.nooon 26+09.65267 & 5 B MBS Ak -
LS [ P A 7R FATE
T |[#[0.00000
Blc#EE #2508
B stEsneesis - B i
i |+ 000000 > BHFRDS A () __________100.0000955 5+0195198 IR EIEL RS T AR e E |
—  ERAE SuATE | 35+1195193 7503518
|4 [0.00000 Y 10.00000 26+0185193 Bt dnihais 7 A4 - -
SEA T [ S2FIHISoA 7R ERATE
LEgR L]
Al iz
=F5E T0.00000 26+19 65267 TS50 G518
Y] 10.00000 26+09 65267 #& 7 Frm)BC RS A e - -
| FSAREREE 20.00000 27+09.65267 {55 DELERAOELES -
[ 7k S 7R ERTS
#7418
Al iz
SATE T0.00000 35+1185193 JSwlislE
== 1000000 36+0195193 F0BL F000FDEE T A4k =
| FSAREREE 2000000 A5+0195198 §&5 SAp = M LiBlLE, -



